TH28FEE10ATEFE

H28.9.26

INC LN LSV BR a2

= g = 4 THREFZ
=R B #E &£ % (RY—ILISR)
1| £
21 H
3| B |[IAERIE(E3) 14:40
o K |EERE (E2) PTABEZEES HAZE(E3) 14:40
- B = - (15:20)
5|k |[BEEEERG KENE(S1) KEMEESH 13:40
o| & |[BHEELIRG MEHERS HEREG) 1aia0)
7| & |BEmnEeRG FEREON LHEES NEHEHLTEED 14:40
8| =
9| H
10| A |ABE®DA
1| & | EHEHLFHEQ KEESB(~210) 14:40
FEPESIETIR (15:20)
12| % 13:40
WHBS (& 13:40
13| K |MoEfEZ (&) (15:20)
14| & |h2EEgS 14:40
15| +
16| H
17| B |aREES (B30%) BMEEESE PTANY—EHT 14:40
18| & [HEHEBRIHAD BBRE(EH1LH) 1aiao)
10| Kk | hEMBEHLFHEQ BHBLEEBLEE (D) 13:40
20| & | nppiEiRsT (15.20)
21| & |INBEIELHIT BAEE (13) 14:40
22| &
23| B
24| A 14:40
14:40
25 K (15:20)
26| 7k 13:40
21| & [BoERRB UM ) EBFHES (B3R 14:40
B ERe2 BERUIE= = (15:20)
28| 2 |[BERBEL KARTIREERR) TL—Ii 14:40
29 £ |EEERFELEDY
30| B
31| B (R BEHENRE (A K) 14:40
15: 20 TR (108148 (2)[%14:40T#)
BMa—2R

(i

X BMEBICIYERIZBDEZENHYFET , T RIS,




